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S.E. ( | nstru mentation & Control) (I Sem.) EXAI\trNATION. 2010

LINEAR INTEGRATED CIRCUITSJ-I

(2008 coIlRsE)

Three Hours Maximum Marks : 100

(i, Answers to the two sections should be written in separate

rliir Figures to the right indicate full marks.

. (iu) Yout answers will be valued as a whole.

r u) Use oflogarithmic tables. slide rule, Mollier charts. electronic
pocket calqulator and steam tables is allowed.

(ul) Assume suitable data, if necessary.
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t81
their ideal and

t8l

1 . \a)

,' SECTION.I

Enlist any /lue dc characteristics atd arl^y.three

. of operational amplifier.

Select any four characteristics and mention
practical values.

Or

Write absolute maximum ratings of IC741

\r) :jupplv voltage

r ii) Power dissipaLion

{/f i  I  lJr l lerenflal rnpul vol lage

{lu ) Input volLage range.

(b)

[8]\a )2.

P.T.O.
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(b)

o. lo, )

I L \

(b)

Llraw tne crcul[

shunt feedback

Arialyze voitage

gain equation.

diagram ol voltage series leedback and voltage

circuit. Compare them. t8l

shunl shunl feedback circuit, for closed loop

ICt

Or

4. (a)

(b)

How negative feedback increases

.Ejxplarn rn case ot non-rnverlrng

Write a short note on voltage

input resistance

amplifrer.

follower.'

of op-amp ?

t8l

t8l

v 1 ,

t10l

I8l

summing amplifier (inverting) with three

and obtain closed loop gain equation.

a circuit that follows given equation :

! = m 3 ( + c

output voltage

slope = 2.5

input voltage

reference voltage (0.5 V)

inputsAnalyze

, 2 ,  " 3

Design

where

2137621-r52
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\o, t\nalyz,e first order active6.

7. \d)

(b)

8. (o)

(b)

Derive the eouation for

(b) Write a short note on

op-amp.

t101

t8l

their

t10l

t81

t10l

wave

t8l

9. (a) , t81
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Desigr  a  555 astab le c i rcu i t ,  for  g iven dala:

UulPu l  l . requencY =  4U K l tz

I 7

C C - v v

Timing capacitor = 0.001 pF

Or

10. (a) What are requirements of a good voltage rcgulator ? What

is line and load regtlation ? Explain. tsl

(6) FIow to generate +5 V using IC 7805 ? Explain the design. [8]

11. {o) Compare active and passive filter.

(b) 'Draw the respdnse of Butterworth, Chebyshev

(b) t8l

t8l

and Bessel Filter

t8l(Low pass).

Or

12. (a) Compare step response of Butterworth, Chebyshev and Bessel

low pass frlter.

(b) Design an active

10 kHz. Assume

as 0.01 pF.

t81

first order low pass filter of cut-off frequency

voltagc gain of 1.58. Assume capacitor value
. t81

j
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